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Ky thi Toan quéc té Kagaroo - 2021

Dé thi 16p 1 16p 2

Cau 1. A kangaroo laid out 3 sticks like this to make a shape. It’s not allowed to
break or to bend the sticks. Which shape could the kangaroo make?

Mot con chudt tOi ddt 3 chiéc que dé tao thanh hinh ma khong dicoc bé gay hodc bé cong chiéc
que. N6 c6 thé tao dwege hinh nao trong cdc hinh sau ddy:
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Céau 2. In the Kangaroo constellation, all stars have a number greater than 3 and their sum is 20.
Which is the Kangaroo constellation?

Trong chdm sao Cang-gu-ru, tdt cd cac ngdi sao déu ¢ sé 1én hon 3 Va téng cuia ching 1a 20.
Hoi chom sao Cang-gu-ru la chom sao nao?

Cau 3. Ella puts on this T-shirt and stands in front of a mirror. Which of these images does she
see in the mirror?

Ella mdc mét chiéc do phéng va dimg truée girong. Hinh anh ma ban dy nhin thdy 1a gi?
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Cau 4. On Michael’s toy shelf, there are neither turtles, nor rabbits, nor brown teddy bears.

What is Michael’s shelf?
Trén gia do choi ciia Michael khdng c6 rua, ciing khong c6 thé va gdu teddy mau nau.

Vay ddu la gia do choi ciia Michael?
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Cau 5. Which of the paths shown in the pictures is the longest?

Trong cac hinh duéi day, diu 1a dwong di dai nhdt?
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Céau 6. Four identical pieces of paper are placed as shown. Michael wants to punch a hole that
goes through all four pieces. At which point should Michael punch the hole?

C6 bon manh gidy giong nhau dwoc dat nhw hinh vé. Michael mudn duc mét 16 xuyén qua cd bon
to giay. Hoi ban ay nén duc vao vi tri nao?
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Cau 7. These children are standing in a line. Some are facing forwards and others are facing
backwards. How many children are holding another child’s hand with their right hand?

Cdc ban nhé dang dimg thanh mét dwong thang. Trong d6 mot sé quay mdt vé phia truée con
cac ban khac quay mdt vé phia sau. Héi c6 bao nhiéu ban ding tay phdi dé ndam tay ban khac?

Cau 8. The picture shows 2 mushrooms. What is the diffirence between their heights?

Trong hinh vé ¢6 2 cay ndam. Tim sw hiéu chiéu cao gifta chiing?

A 4 B#
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E. 17

Cau 9. Rose the cat walks along the wall. She starts at point B and follows the direction of the
arrows shown in the picture. The cat walks a total of 20 metres. Where does she end up?

Chu méo Rose di doc theo bitc trong. N6 bat dau di tir diém B va di theo huedng mili tén nhu

trong hinh. Hoi khi con meo di dwoc 20 mét thi no dang o vi tri nao?
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Cau 10. Edmund cut a ribbon as shown in the picture. How many pieces of the ribbon did he
finish with?

Edmund cdt mét soi day nhue trong hinh. Héi khi cdt xong soi day sé diroc chia thanh bao nhiéu
doan?

A.9 B10 C1 D.11 E.13

Cau 11. Julia has two pots with flowers as shown. She keeps the flowers exactly where they are.
She buys more flowers so that each pot will have the same number of each type of flower. What
is the smallest number of flowers she needs to buy?

Juila c6 hai chdu hoa nhw hinh vé. Cé dy mudn giit nguyén nhirng béng hoa nay va mua thém
hoa trong vao chdu sao cho tong so hoa moi loai ¢ moi chdu bang nhau. Hoi ¢0 ay phai mua it
nhat la bao nhiéu bong hoa?

A 2 B. 4 C.6 D.8 E. 10

Céau 12. Tom encodes words using the board shown.

For example, the word PIZZA has the code A2 A4 C1 C1 B2. What word did Tom encode as B3
B2 C4 D2?

Tom gidi ma Cac chir nhw trong bang sau:

Vi du, tir PIZZA sé dwoc mé hoa thanh A2 A4 C1 C1 B2. Hoi Tom da mé hoa tir gi thanh B3 B2
C4 D2?
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Cau 13. Which figure can be made of these two pieces?

Hinh ndo cé thé dwoc ghép béi hai hinh sau?
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Céu 14. Julie and Angela played “kangball”, a ball game. Each goal in their game scores 2
points. Julie scored 5 goals and Angela scored 9 goals. How many more points than Julie did
Angela score?

Julie va Angela cung nhau choi “kangball . Trong dé, moi ban thdng dwoe tinh 2 diém. Julie ghi
5 ban con Angela ghi 9 ban. Hoéi Angela hon Julie bao nhiéu diém?

A 4 B.6 Cy8 _D. 10 E. 12

Céau 15. The picture shows the five houses of five friends and their school. The school is the
largest building in the picture. To go to school, Doris and Ali walk past Leo’s house. Eve walks
past Chole’s house. Which is Eve’s house?

Trong hinh la ngoi nha cua nam nguoi ban va truong hoc cua ho. Truong hoc la toa nha lon
nhat trong hinh. Bé den truong thi Doris va Ali phdi di qua nha cua Leo, Eve phai di qua nha
cua Chole. Hoi dau la nha cua Eve?
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Céau 16. The kangaroo had two branches for lunch. Each branch had 10 leaves. The kangaroo ate
some leaves from one branch. Then, from the second branch, it ate as many leaves as were left
on the first branch. How many leaves in total were left on the two branches?

Mot con cing-Qu-ru ¢é hai canh cdy dé an triea. Trén moi canh ¢6 10 chiée ld. N6 dé dn mot sé
la trén canh dau tién. Sau do, ¢ canh thir hai, n an so 1& bang so 1& con lai o canh thir nhat. Hoi
ca hai canh con lai bao nhiéu chiec la?

A 5 B.6 C.8 D.10 E. 15

Cau 17. Mara built the square by using four of the following five shapes. Which shape was not
used?

Mara dd xép hinh vudng bang 4 trong sé 5 hinh duedi day. Héi hinh nao da khéng dicoc sir dung?
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Céau 18. Every time the witch has 3 apples she turns them in to 1 banana. Every time she has 3
bananas she turns them in to 1 apple.

What will she finish with if she starts with 4 apples and 5 bananas?

MGéi khi ¢6 3 qud téo, my phit thity sé bién chung thanh 1 qud chuéi. Va méi khi ¢6 3 qud chudi,
mu ta sé bien chung thanh 1 qua tao.

Néu ban dau mu phQ thiiy ¢6 4 qud tao va 5 qud chuoi thi sau khi 1am phép xong mu sé c6 nhiing

" TIES

'y
o6 L

CodeMath.vn 0972625630



=

(Raode

Cau 19. The cards shown are placed into two boxes

The sums of the numbers in each box are the same. Which number must be in the box with
the number 4?

Cac thé sé nhue trong hinh duwroc dit vao 2 chiéc hdp sao cho tong Cac so trén theé trong maoi hop
la bang nhau. Hoi the nao sé ¢ cung hop voi the so 4?
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A.Only 3 B.Only5 C.Only6
D.Only5o0r6 E. Impossible

Céu 20. Stan has five toys: a ball, a set of blocks, a game, a puzzle and a car. He puts each toy
on a diffirent shelf of the bookcase. The ball is higher than the blocks and lower then the car.The
game is directly above the ball. On which shelf can the puzzle not be placed?

Stan ¢6 5 do choi: 1 qua béng, 1 bé xép hinh, 1 may choi game, 1 bg gidi do va 1 chiéc 6 t6. Ban
dy ddt méi thir do choi trén mot ngan khdc nhau ciia gia sach. Qua béng & cao hon b xép hinh

nhung thap hon é t6. Mdy choi game thi nam ngay phia trén qua béng. Hoi ngan ndo khéng thé
dat b gidi do dwoc?
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Cau 21. The pink tower is taller than the red tower but shorter than the green tower. The silver
tower is taller than the green tower. Which tower is tallest?

Toa thap mau hong cao hon tda thap mau do nhung lai thap hon tda mau xanh. Thap mau bac
cao hon thap mau xanh. Hoi toa thdap nao cao nhat?

A.Pink tower B. Silver tower  C. Greentower D. Redtower E. Impossoble to decide
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Cau 22. ach participant in a cooking contest baked one tray of cookies a the one shown.

Mbi ngueoi tham gia cudc thi ndu an sé nwéng mét khay banh quy nhuw trong hinh.
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What is the smallest number of trays of cookies needed to make the following plate?

Pé lam duoc dia banh sau day thi phdi nuwéng it nhat bao nhiéu khay banh?

Al B.2 C.3 D.4 E.5

Céu 23. Kangie eats only apples on Monday, Wednesday and Friday. On Tuesdays and Thursday
he eats only mangoes. He eats either 2 apples or 3 mangoes a day. On Saturdays and Sunday he
eats nothing. How many pieces of fruit does Kangie eat in two weeks?

Kangie chi an t&o vao thi 2, thir 4 va thie 6. Thir 3 va thie 5 thi chi an xoai. NO an 2 qud tao hodc
3 qud xoai mét ngay. Thir 7 va chi nhdt khéng an gi ca. Hoi trong 2 tudn thi Kangie da an bao
nhiéu qua?

A. 12 B. 16 €718 E B.R0 E. 24

Cau 24. The picture shows two cogs, each with a black tooth. Where will the black teeth end up
after the small cog has made one full turn?

Trong hinh ¢6 2 chiéc banh rdng. Trén méi céi déu c6 mét rang mau den. Khi chiéc banh rang bé
quay du 1 vong thi nhitng chiéc rang den dang o vi tri nao?
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